KEY TO COLENSO'S STUDENT'S ALGEBRA

Published @ 2017 Trieste Publishing Pty Ltd

ISBN 9780649714865

Key to Colenso's Student's Algebra by J. Hunter

Except for use in any review, the reproduction or utilisation of this work in whole or in part in any form by any electronic, mechanical or other means, now known or hereafter invented, including xerography, photocopying and recording, or in any information storage or retrieval system, is forbidden without the permission of the publisher, Trieste Publishing Pty Ltd, PO Box 1576 Collingwood, Victoria 3066 Australia.

All rights reserved.

Edited by Trieste Publishing Pty Ltd. Cover @ 2017

This book is sold subject to the condition that it shall not, by way of trade or otherwise, be lent, re-sold, hired out, or otherwise circulated without the publisher's prior consent in any form or binding or cover other than that in which it is published and without a similar condition including this condition being imposed on the subsequent purchaser.

www.triestepublishing.com

J. HUNTER

KEY TO COLENSO'S STUDENT'S ALGEBRA

Trieste

LONDON I PRINTED BY Spottimouns and do, mew-street square and parliament street

3

÷

10

αδ^{ημα}ι - 3^{αρμα}τατ * 3μ_{α 1} τ

K E Y

то

COLENSO'S STUDENT'S ALGEBRA

BY THE

REV. J. HUNTER, M.A.

LONDON LONGMANS, GREEN, AND CO. 1878

181. f. 61 x

「日本」

2

ä

KEY.

.

2

34

Ex. 1.

1. 6+10+12+12+6+2+0=48. 2. 12 + 5 - 12 + 12 - 5 + 0 = 12. 3. 15 - 24 - 24 + 21 + 4 - 0 = -8. 4. -18+10+12-4+1=1, 5. 30+100-24+0=106. 6. 0 - 15 + 32 - 18 = -1. 7. -90 - 48 + 80 - 120 = -178. 20 8. 150-192+360-168=150. 9. 990-228+0-312=450. 10. 360 - 240 + 72 - 0 = 192.

Ex. 2.

1, 6+5+1-1=11.	2. $3-3+1=1$.
3, 3-5+2=0.	4, $1 + 18 + 75 + 0 = 94$.
5. $9 + 90 - 10 + 0 = 89$.	6. $1 - 15 + 75 - 125 = -64$.
7. 1-12+54-108+81=16.	8, $300 - 45 + 9 = 264$.
9. $1+5-1=5$.	10. $1 - 1 + 7 - 4 = 3$.

Ex. 3.

1, 2+10+21-8=25.	2. $12 - 24 + 6 - 9 = -15$.
3.2 + 10 - 4 + 4 = 12.	4. $1+6-4+3=6$.
5. $5+6+6+4=21$.	6. 10 + 9 + 8 - 5 = 22.
7. $15 + 12 - 24 + 4 = 7$.	8. $5+6-2+4=18$.
9. $25 - 18 + 12 - 4 = 15$.	10. $6+30-36+4=4$.

Er. 4.

1.	0+0+10+36=46
3.	4+15+16=35.

2. 6+4+16-2=2% 4. 6+6-2=10. в

Key.-Use of Brackets.

31.1%

. 8

5. $30 \times 8 \times 30 = 7200$. 6. $9 \times 1 \times 3 \times 5 = 135 = 144 - 9$. 7. $2 \times 4 = 8 = 16 - 13 + 1 + 2 \times 2$. 8. $4 + 36 + 16 + 64 = 120 = 4 \times 30$.

Er. 7.

1. a-x-2x+a-2+2a+3-2x-1+x=4a-4x. 2. $a^3-2a^3c+3ac^2-a^3c+2a^3-2ac^2+a^3-ac^2-a^2c$ $=4a^3-4a^3c$. 3. $2x^3-2y^3-x^3-3y^2-2x^3+x^4-3x^2+2y^3+x^2=x^2-3y^2+3x^3$. 4. $x^3+ax^2+a^3x-y^3+by^3-b^3y+s^3+cz^2+c^2x-x^3+y^3-z^3$ $+ax^2+by^2+cz^3-a^3x+b^3y-c^3x=2ax^2+2by^2+2cz^3$. 5. $a^3-b^2+c^3-b^2+c^3-a^2+c^3-b^2+a^2=a^3-3b^2+3c^2$. 6. $2a^2-3ab+b^2-a^3+4ab+b^2+2b^2-a^2+ab=2ab+4b^3$. 7. $x^3+y^3-3x^2y-3xy^3-x^3+3x^2y+8xy^2-y^3=0$. 8. 2x-3y+s-y-2x+z+8s-x+2y-2x+y-s =-3x-y+4z. 9. 1-1+1-4x+2x-3+5x-2+5x-4=8x-8.

10. 2a-3b-c+2d-2a+3b-c+2d+2a-3b-c-2d-2a+ 3b-c+2d=-4c+4d.

Ex. 9.

2.	az+	x+ax-x-by+y-by-y=2(ax-by).
S.		$c+b-c)x^{2}+(3b-3a+2a+2b)xy+(b-c+a-b)y^{2}$ $(a+b)x^{2}-(a-5b)xy+(a-c)y^{2}.$
4.	(i) (ii)	(a+b+a-b)x+(b+c-b+c)y=2(ax+cy). (a+b-a+b)x+(b+c+b-c)y=2b(x+y).
5.	(i)	(2a+2b-3a+3b)x+(3b+3c+2a-2c)y = -(a-5b)x+(2a+3b+c)y.
	(ii)	$\begin{array}{l} (-2b-c+a-2b)x+(a-2b-b-2c)y \\ = (a-4b-c)x+(a-3b-2c)y. \end{array}$
	(iii)	$\begin{array}{l} (-a+5b+a-4b-c)x+(2a+3b+c+a-3b-2c)y \\ = (b-c)x+(3a-c)y. \end{array}$

4

.

Key.-Multiplication.

- 6. (i) (2a+2b+3a-3b)x+(3b+3c-2a+2e)y=(5a-b)x-(2a-3b-5e)y.
 - (ii) (-2b-c-a+2b)x+(a-2b+b+2c)y= -(a+c)x+(a-b+2c)y.
 - (iii) (5a-b-a-c)x-(2a-3b-5c-a+b-2c)y = (4a-b-c)x-(a-2b-7c)y.
- 7. (i) (2a+2b+2b+c)x+(3b+3c-a+2b)y = (2a+4b+c)x-(a-5b-3c)y.
 - (ii) (-3a+3b-a+2b)x+(2a-2c+b+2c)y= -(4a-5b)x+(2a+b)y.
 - (iii) (2a+4b+c-4a+5b)x-(a-5b-3c-2a-b)y= -(2a-9b-c)x+(a+6b+3c)y.
- 8. (i) (2a+2b-a+2b)x+(3b+3c+b+2c)y=(a+4b)x+(4b+5c)y.
 - (ii) (-3a+3b+2b+c)x+(2a-2c-a+2b)y= -(3a-5b-c)x+(a+2b-2c)y.
 - (iii) (a+4b-3a+5b+c)x+(4b+5c+a+2b-2c)y= -(2a-9b-c)x+(a+6b+3c)y.

Ex. 10.

15.

$$x^2 - ax + b$$

 $x - c$
 $x^3 - ax^3 + bx$
 $ax^3 - ax^3 + bx$
 $x^3 - (a + c)x^9 + (ac + b)x - bc$
 $1 - ax + bx^3 - cx^3$
 $1 + x - x^3$
 $1 - ax + bx^3 - cx^3$
 $1 - (a - 1)x - (a - b + 1)x^3 + (a + b - c)x^3 - (b + c)x^4 + cx^3$.
 $3 2$

4
$$Ky-Multiplication.$$
18.
$$a = by$$

$$a$$

.